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QUESTION 1

In the vi editor, which of the following commands will delete the current line at the cursor and the 16 lines following it (17
lines total)?

A.17d
B. 17dd
C.17x
D. d17d
E. 16d

Correct Answer: B

QUESTION 2

Which command is used to enable disk quotas on a particular filesystem? (Provide only the command, with no options
or parameters)

Correct Answer: /SBIN/QUOTAON,QUOTAON

QUESTION 3

Which of the following directories contains additional information about installed packages?
A. lusr/share/documentation

B. /usr/local/share/documentation

C. lusr/local/doc

D. /usr/share/doc

E. /usr/packages/doc

Correct Answer: D

QUESTION 4

Which of the following Debian package system commands will list all partially installed packages and suggest how to get
them correctly installed?

A. dpkg -C

B. apt-get -u
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C. dpkg -Dh
D. dpkg -I
E. apt-get -y

Correct Answer: A

QUESTION 5

The system is having trouble and the engineer wants to bypass the usual /sbin/init start up and run /bin/sh. Which of the
following is the usual way to pass this change to the kernel from the boot loader?

A. Start in runlevel 1.

B. Pass init=/bin/sh on the kernel parameter line.
C. Pass /bin/sh on the kernel parameter line.

D. Pass start=/bin/sh on the kernel parameter line.

Correct Answer: B
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